Phone:  (214) 421-7366
APW W-9

Toll Free:  (800) 527-2100
Website:  www.apwwyott.com

E-mail:  info@apwwyott.com

729 Third Avenue Counter Top Warmer

Dallas, TX 75226

REPLACEMENT PARTS CATALOG & WIRING DIAGRAM

Model Voltage Wattage P/N
W-9 120V 400W 56914

Item PIN Description
1 | 56973 | Pan & Wrapper Assembly

2 | 56978 | Bottom Cover

3 | 55768 | Foot

4 | 60320 | Thermostat

5 | 56528 | Knob

6 | 69107 | Limiting Thermostat

7 | 56530 | Indicator Light

8 | 72536 | Element Strip/120V-400W
9 | 72557 | Element Clamp

10 | 56989 | Element Cover

11 | 55947 | Cord

12 | 89101 | Strain Relief Bushing

13 | 89120 | Jiffy Clip

14 | 75490 | Wire Connector

15 | 56956 | Insulation (Front & Back)
16 | 56980 | Insulation (Sides)

17 | 56984 | Wire Set
Parts Not Shown \"’
89054 | #6-32 KEPS Nut
88961 | 10-24 Green Hex Nut z /‘

89061 | 10-24 Hex Nut

89059 | #10 External Lockwasher \/
89071 | #10 Flat Washer 9
89065 | 10-24 Jam Nut e/

89073 | #8 X 1/2 Hex Sheet Metal Screw

Page 1 of 2 Note: When ordering, ALWAYS specify Part #, Model #, Serial #, Voltage & Phase. Form #67136 Rev.3/00



Phone:  (214) 421-7366
APW W-9
° Toll Free:  (800) 527-2100

Website:  www.apwwyott.com

E-mail:  info@apwwyott.com

W-9 WIRING DIAGRAM

729 Third Avenue Counter Top Warmer

Dallas, TX 75226

Heating Element O

Wirenut s

——

r. Wirenut
= /]

L

Limiting
Thermostat

N\ .\

Thermostat

Indicator
Light

Page 2 of 2 Note: When ordering, ALWAYS specify Part #, Model #, Serial #, Voltage & Phase. Form #67136 Rev.3/00




	Page 1
	Page 2

